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General Instructions :

i)

ii)

iii)

The Question-cum-Answer Booklet consists of objective and subjective types of
questions having 54 questions.

Space has been provided against each objective type question. You have to
choose the correct choice and write the complete answer along with its alphabet
in the space provided.

For subjective type questions enough space for each question has been
provided. You have to answer the questions in the space.

iv) Follow the instructions given against both the objective and subjective types of
questions.

V) Candidate should not write the answer with pencil. Answers written in pencil
will not be evaluated. ( Except Graphs, Diagrams & Maps )

vi) In case of Multiple Choice, Fill in the blanks and Matching questions,
scratching / rewriting / marking is not permitted, thereby rendering to
disqualification for evaluation.

vii) Candidates have extra 15 minutes for reading the question paper.

L Four alternatives are given for each of the following questions / incomplete

statements. Only one of them is correct or most appropriate. Choose the correct
alternative and write the complete answer along with its alphabet in the space
provided against each question. 15x1=15

1.

Ans. :

Ans. :
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“Here is a man who is more learned than all our learned professors put
together.” Who said this ?

(A) Ramakrishna Paramahamsa
(B) Prof. W. W. Hastie
(C) Dr. Barrows

(D) New York Herald.

Many thought that Vikram Sarabhai would not be successful as the Chairman
of the Atomic Energy Commission because

(A) atomic energy was a new subject for him
(B) this post was forced on him
(C) the employees in that Commission were not trained

(D) he was not a student of physics.




Ans. :

Ans. :

Ans. :

Ans. :

Ans. :

Ans. :

Ans. :
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When did the postmaster give Andy his master’s letter ?
(A) Durfy introduced Andy to him
(B) Andy paid eleven pence postage
(C) The postmaster called Andy’'s master a goose

(D) Andy threatened the postmaster to give him the letter.

Which one of the following is not a sign of civilization ?
(A)  Good books (B) Fighting battles
(C) Fine buildings (D) Beautiful pictures.

Where was the game of cricket originated ?
(A) England (B) America
(C) South Africa (D) Sri Lanka.

What was the subject chosen by Kalpana for her higher studies ?
(A) Architecture (B) Electronics or Electricals

(C) Aerospace Engineering (D) Civil Engineering.

The car of the Lord of Tartary would be drawn by
(A) peacocks (B) musicians

(C) Thorses (D) seven zebras.

Which one of the following statements does not refer to P. Lankesh’s mother ?
(A) She was religious (B) She was an ordinary woman

(C) She was dark skinned (D) She was highly productive.

The beggar maid entered the court hall with her arms across her breast because

A it was the custom on those days

(A)

(B) it was a token of respect to the king

(C) she felt shy

(D) it was her habit to stand before the king.
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10.

Ans. :

11.

Ans. :

12.

Ans. :

13.

Ans. :

14.

Ans. :

15.

Ans. :
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The Lord of Tartary would be summoned to meal by
(A) peacocks (B) trumpeters

(C) ministers (D) servants.

“The camel is the ship of the desert.” The figure of speech used in the above line

is

(A) metaphor (B) personification

(C) synecdoche (D) simile.

Ramesh was awarded Ph.D ..................... Kuvempu University. The most

appropriate preposition to be filled in the blank is
(A) from (B) with

(C) in (D) by.

........................ you want to buy a dictionary ? The correct auxiliary verb to be
filled in the blank is

(A) Does (B) Have

(C) Do (D) Are.

P. T. Usha is a fast runner. The word ‘fast’ is
(A) anoun (B) an adverb

(C) averb (D) an adjective.

The word that takes the prefix ‘in’ is
(A) direct (B) satisfaction

(C) proper (D) patient.
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II. 16. Match the words in List-A with their meanings in List-B. Write the correct

answer in the space provided : 5x1=5
List-A List-B

(a) passion (i) ready to give help

(b) disciple (ii) lad

(c) pious (iii) weak

(d) generous (iv) bray

(e) feeble (v) deeply religious

(vi) status
(vii) deeply felt emotion

(viii) follower.

Ans.: a) b)
c) d)
e)
1. 17. Fill in the blank with suitable conjunction : 1
Please wait ..................c..e. I return.
18. Fill in the blank with the correct tense form of the verb given in brackets : 1
Ramakrishna Mission ........................ ( be + found ) by Swami Vivekananda.
19. Fill in the blank with the correct form of the word given in brackets : 1
Please give me ..................... ( permit ) to go out.
20. One word for ‘to say publicly that something important is true’ is 1
21. Fill in the blank with a suitable article : 1
Ganesh is .........cocviieiiiinl. man wanted by the police.
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IV. Answer the following questions in two or three sentences each : 10 x 2 =20

22. How did Bindacharya Burli serve the cause of freedom ?

23. Why does the poet shed grateful tears for his mother ?

24. What was the blessing of Hanuman to his brother as they departed ?

25. How did Chandrashekar achieve a great name as a bowler even with his

disadvantage ?

26. Why did Nehru call the people of Europe barbarous ?
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What made Gandhiji think of going back to the third standard ?

28.

Why did many of his classmates approach Sarabhai ? How did he guide them ?

29.

What, according to Tagore, is the ultimate aim of man ? How can it be attained ?

30.

What does the expression ‘laugh with their teeth’ mean ?

31.

Why did the Duchess go on strike ?
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V.  Read the following extracts and answer the questions that follow : 5x3=15
32. “He wouldn't give it to me, Sir.”
a) Who is the ‘he’ ?
b) What does ‘it’ refer to ?
c) Why did he not give it to him ?
33. “I must, for it was I who was talking.”
a) Who was talking in the class ?
b) When did the speaker say so ?
c) What does it show about the speaker ?
34. “And I have thought it died of grieving.”

1300000

a) What does ‘it’ refer to ?

b) When did the poet say so ?

c) What does the word ‘grieve’ mean ?
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35. “Her reply made him so angry that he cancelled the registration of her car.”

a) Who is the ‘he’ ?

b) What was her reply ?

c) Whose car was it ?

36. She always held him in high esteem.
a) Who is the ‘she’ ?

b) Who did she hold in high esteem ?

c) Why did she hold him so ?

VI. Quote from memory : 4

37.  JUud@e NOT ..o ,
....................................................................................... grace ;
Behind ... e ,
.......................................................................................... face
5 ,
.......................................................................................... hour ;
THe DU ..o e ,
....................................................................................... flower

OR
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31-E 10

HEr aQrmiS ..o
.................................................................................... can say
Bare-fOOted ......oouiiiiiii e
................................................................................. Cophetua.
I TODE oo ,
....................................................................................... way ;
B LA £ T PP PPN ,
................................................................................. than day.”
VII. Answer the following questions in five or six sentences each : 2x4=8

38. How did Daksha win over the king ?
OR

What were the contributions of Dr. Sarabhai to science ?
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39. Write the substance of the poem ‘The Miser and His Gold’.
OR
Why was Gabriel Okara disgusted ? What help did he need from his son ?

VIII. Rewrite as directed :
40. Add a question tag to the following statement : 1

Shilpa writes her homework regularly,

41. Change into passive voice : 1

All the students did the work in time.

42. Point out the difference in meaning between the following pair of words using
them in meaningful sentences : 2

here, hear

a)
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43.
44.
45.
46.
IX. 47.
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Change into indirect speech : 2

Shekar said to me, “Did you go to Bangalore yesterday ?”

Use the following word first as noun and then as adjective in meaningful

sentences : 2
beauty

a)

b)

Combine the following sentences using first as ‘too ... to’ and then as,

‘so ... that’ : 2
Suresh is very fat. He cannot run fast.

a)

b)

Write the other degrees of comparison : 2
No other student is as brilliant as Narendra.

a)

b)

Imagine that you are Priya / Praveen of Xth Standard, Govt. High School,

Hassan.

Write a letter to your friend explaining your educational excursion arranged by
your school, using the clues given below. You may add some more points, if

necessary : 5

Excursion date — number of days — places visited — importance of those
places — money spent — where you resided — how you enjoyed — prepared

project on that — thanks to your teachers.

OR
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Write a letter to the Manager, State Bank of India, Regional Office, Bangalore,

using the clues given below :

Passed PU in distinction — have sought admission in engineering college —
father agricultural labourer — six members in our family — annual income

Rs. 10,000/- — need educational loan — a request to the Manager.
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X. 48. Write two paragraphs on any one of the following topics :
a) Social evils
b) A national leader whom you like

c) Newspaper.
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Read the following passage carefully and answer the questions that follow :

Zeverbai had fallen ill with an intestinal problem, she was admitted to the Cama
Hospital in Bombay. She was to be operated, but as she was weak the doctors post-
poned surgery until she recovered some strength. Vallabhbhai went to Anand where a
client, accused of murder was being tried. Before he left for Anand he instructed
doctors to summon him immediately the date on which the operation is fixed. But
Zaverbai's condition worsened as soon as he left and doctors resumed to surgery
which was unavoidable. She died on January 11, 1909 after the operation. The news
of the bereavement reached Vallabhbhai Patel, when he was cross-examining a
witness in the murder case. He saw the telegram which announced his beloved wife’s
death, folded it and put it in his pocket.

He continued his cross-examination and ultimately won in the battle in the court
room. He did not show his grief when he heard the news. To a question put by one of
his colleagues Vallabhbhai replied “She was already dead. What was there to go ?” He
was so calm and firm. It was only at the end of the day that he disclosed to his friends
the news.

49. Why did the doctors decide to do surgery to Patel's wife immediately ? 1
50. What did Patel instruct the doctors before he left to Anand ? 1
51. Why was Patel’s wife admitted to the hospital ? 1
52. Where did Patel put the telegram ? 1
53. “He didn’t show the grief when he got the news.” What was the news ? 1
54. When did Patel receive the message of his wife’s death ? 1
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